*

REM SIMPLE SPRITE DBEMO

PMODE2

CLS7

* GCREEN @, 1

PUTE3D, 5@, 13, 3@, B:REM SPRITE 3B (HOUSE)
PUTEER, 50, 2, 31, 2:REM SPRITE 31 (TREE)
PUTE120, 50, 6, 29, 3:REM SPRITE 23 (ANDTER HOUSE)
pUTEZ200, 50, 2, 31,4

X=0:Y=20

X=X+1:Y=Y+1

PUTEX, 5@, 1,9, 1:REM SPRITE 9 (AIRPLANE & MOVE IT ACROSS SCREEN)
IF Y)192 THEN GOTO 100

IF X)S5 THEN PUTES@,Y,15,10,5

1@0 IF X)258 6OTO70
110 GOTORBG
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2 *¥% BARS *x%

CLS 15:PMDDE4L

FOR X=0TDE3:C=INT(X/4)
LINEX,@, X, 48,CsNEXT X
I$=INKEY$:IF I4=""THEN 35
CLS 15:6B0T0O 20

PMODEZ:B=1:0=1:5=0

CLSB

PUT®10@,50,C, S, 0

PRINT®4S@, "BACKGROUND COLOUR (B) ":H
PRINT@®S14, "SPRITE COLDUR (C) ":C
PRINT@S78, "SPRITE NUMBER (8) ":8
A%=INKEY$

IF A$="B"OR A$="C"DR A$="S"THEN 6@ ELSE 40
IF A$="E"THEN B=E+1:IF B(1 DR E}1S THEN B=1
IF A$="C"THEN C=C+1:IF C(i OR C)i5 THEN C=1
IF A$="S"THEN S=G+1:IF 5)31 THEN S=0

GOTD 20



